\ /)\'5] NO.436, SAN CUN RD, SAN CUN LI, CHANGHUA CITY, TAIWAN, R.O.C.
TILIIIIII %ﬂﬁﬂﬁﬁj ﬁBE TEL : 886-4-7371298 | FAX : 886-4-7387570 | http://www.gppt.com.tw
Guan Piin Painting Technology Co., Ltd. 5007 7 a#a&LMEEH=RE=N436% | #i—%4%: 84963015

R-77-S2509 Double Fluid Spray Gun Parts List

R-77-82500 KBS EL@INESHE D EEEEAR
NO. [Part No. Description S ERBH Q'ty
01 |R-77-S2509-P01 syringe needle RS NEaRE! 1
02 |R-77-S2509-P02 needle seat TR 1
03  [R-77-S2509-P03 needle pad T ETE 1
04 [R-77-S2509-P04 adapter NI 1
05 |R-77-S2509-P05 adapter HUE 2T 1
06 [R-77-S2509-P06 Trough stick i e 1
07 |R-77-S2509-P07 pad 1R 1
08 |R-77-S2509-P08 packing screw FHEMRAR 1
09 |R-77-S2509-P09 nut RS 1
10 [SWA-M6x6-S4 plug ZFETH 2
11 [SWA-M6x10-S4 plug FEUH 1
12 |R-77-S2509-P11 guide HE 1
13 [R-77-S2509-P14 needle St 1
14 |NNA-M10*1.0-ZN spring pE 1
15 |R-77-S2509-P16 nut BRI 1
16 |R-77-S2509-P17 screw BB 1
17 |R-77-S2509-P18 connect PR 1
18 [NNA-M4-ZN screw PRE% 1
19 |R-77-S2509-P20 nut B 1
20 |R-77-S2509-P21 screw FAAL IR 1
21 |NNA-M3-$4 nut S TR 1
22 [R-77-S25 gun FRizERERE | 1
23 |Mini88-025-1 gasket EhH 1
20130712




